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ECONOMICS — GENERAL
Paper : GE/CC-4
(Indian Economic Policies)

Full Marks : 65

Candidates are required to give their answers in their.own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Group - A
1. Answer any ten questions : 2x10

(a) What do you mean by disinvestment?

(b) Mention two functions of NABARD.

(c) Indicate two causes of low productivity in Indian Agriculture.

(d) Mention two major problems faced by the public sector of India.
(e) What was the function of BIFR?

(f) What is MSME?

(g) Mention two non-institutional sources of rura] credit.

(h) Mention two export items of India in recent times,

(i) Mention two features of Industrial Policy of 199] adopted by government of Indj
Y ol India
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Define fiscal deficit.

Mention two functions of RBL

State two causes of adverse balance of payments account in India.
State two basic features of Indian economy.

What is sccondary sector?

What is capital formation?

Group - B

2. Answer any three questions : 53

(a)
(b)
(c)
(d
(e)

Briefly explain the problems of agricultural marketing in India. d

Briefly describe the role of NABARD in agriculture and rural development.

Evaluate land reform policy in the context of Indian agriculture.

Briefly explain the importance of introduction of GST in the context of tax reform in India.

What are the limitations of Exim policy in post-reform period.

Group - C

3. Answer any three questions :

(a)

(b)
(c)

(d)
(¢)

Discuss the problems of rural credit in India. What are the steps taken by the Government to solve
the problem? 5+5

Describe the role of small scale and cottage industry in the economic development of India. 10

What are the reasons for industrial disputes in India? In this context discuss some social security
measures. 545
Describe the effects of Green Revolution in Indian agriculture. 10
Discuss the volume, and direction of India’s foreign trade after independence. 10
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